Item no 5.20

QUESTION NO 20 By Councillor Rose for answer by the
Convener of the Finance and
Resources Committee at a meeting
of the Council on 23 November 2017

Question (1) How much has Edinburgh Council spent on pension costs in
each of the last 10 years?

Answer (2)
Questions (2) What is the breakdown of:
a) employer contributions and
b) redundancy, efficiency retirements and other “strain”
costs?
Answers (2)
Questions (3) How does the increase in contribution rates relate to:
a) the rate of inflation and
b) the number of employees for each of the last 10 years?
Answers 3)
Questions (4) What are the figures in relation to:

a) Lothian Pension Fund Members and
b) teachers?

Answers (4)



